[1 APPROPRIATE REACTIONS/EXPRESSIONS [1 MULTIPLE SENTENCES TO EXPLAIN
[1 BUILDS ON WHAT PARTNER SAYS 1 RELYING HEAVILY ON PAST LEARNING
| OFTEN USING CONNECTED SENTENCES I SAYS IF IS UNSURE
1 DOES/TRYING TO CIRCUMLOCUTE 5 SENTENCE COMPLEXITY MOSTLY
[] EFFECTIVELY USING CURRENT/PAST UNIT APPROPRIATE FOR LEVEL
STRUCTURES ] SUPPORTS PARTNER
[} FULLY MEETING FOLLOW-UP Q’s T TAKES TIME TO THINK BEFORE REPLYING
] GRADE LEVEL LANGUAGE ] TRYING TO SELF CORRECT
[J LITTLE EVIDENCE OF GRADE LEVEL T WORKING TO EXPLAIN NOT TELL
LANGUAGE
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